
j*f g+= 2             s'n ah]^ ? 7424374.– 
s_ k"jf{wf/ lasf; tkm{ ? 5507100.–                           gd'gf of]hgf ? 1000000.– 
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 vf]nf lgoGq)f t^aGwg vf}/fxf vf]nf j*f 2 1000000   
  hDdf   1000000   
ljw't tkm{ 900000.– 
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 ^«fG;kmd{/50s]=le=P sf]&/L j*f 2 500000   
2 kSsL kf]n / tf/ vfl/b j*f g+= 2 leq 400000   
  hDdf   900000   
;*s tkm{ ? 800000.– 
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 sRrL gfnL / af^f] u|fe]n k|f=lj ^f]n b]lv ^fs'/] ^f]n ;Dd ltg #?jf ^f]n a*sf uNnL krxf j*f 2 

400000 
  

2 sRrL gfnL / af^f] u|fe]n vf;" ^f]n vem/L ^f]n vf}/fxf ;f]tf ^f]n / e'Ns] j*f 2 400000   
  hDdf   800000   
ko{^g tkm{ ? 500000.– 
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 lzj dlGb/ lgdf{)f a#d?jf j*f 2 500000   
  hDdf   500000   
;fd'bflos ejg lgdf{)f tkm{ ? 407100.– 
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 cw'/f] ;fd'bflos dlxnf ejg lgdf)f{ dxb]jf j*f 2 407100   

  hDdf   407100   
vf]nf lgoGq)f tkm{ ? 1200000.– 
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 vf]nf lgoGq)f t^aGwg u'n/]xnL vf]nf j*f 2 400000   
2 r]s *ofd lgdf{)f sf]&/L uf*L *'F* j*f 2 400000   
3 vf]nf lgoGq)f t^aGwg ufËu|] vf]nf j*f 2 400000   
  hDdf   1200000   
l;rfO{ tkm{ ? 400000.– 
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 l;rfO{ 2 Pr=lk= df]^/ vl/b krxf 3 a#d?jf 1 sf]&/L 3 dxb]jf 3 hDdf 10 j*f 2 400000 

  
  hDdf   400000   

cWoIf k'FhLut ;'wf/ sfo{qmd   300000 
k|j${gfTds tkm{sf] ? 2167274.–sf] 60k|ltzt k"jf{wf/ tkm{sf] of]hgf -km'^s/ of]hgf_ 1150500.– 
lzIff tkm{ 200000.– 
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 afn lasf; sIff ;+rfng ;fnef}/L j*f 2 200000   
  hDdf   200000   
:jf:Yo tkm{ ? 150000.– 
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 :jf:Yo OsfO{ lrdlrd]sf nflu ;f]nf/ / cfjZos ;fdfu|L v/Lb   j*f 2 150000   
  hDdf   150000   
;*s tkm{ ? 300000.– 
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 45 Pd=Pd= / 30Pd=Pd= xf]dkfOk vl/b j*f g+= 2 leq 300000   
  hDdf   300000    



 
vfg]kfgL tkm{ ? 300500.– 
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 l/Ë s'jfFF lgdf{)f dxfb]jf / #';|f j*f 2 100000   
2 l/Ë s'jfFF lgdf{)f / dd{t krxf a*sf uNnL ;d]t j*f 2 100000   
3 Xof)* kfOk / zf}rfno lgdf{)f sf]&/f df}hf 2 uf}xf/fdf j*f 2 100500   
  hDdf   300500   
;fd'bflos ejg tkm{ ? 200000.– 
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 ;fd'bflos ejg lgdf)f{ *fF*f ufpF j*f 2 200000   
  hDdf   200000   
nflIft ju{ tkm{ ? 766774.– 
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 afnaflnsf tkm{ 15 k|ltzt j*f g+= 2 2,25,040   
2 dlxnf tkm{ 5 k|ltzt j*f g+= 2 108346   
3 cflbaf;L hghftL tkm{ 5 k|ltzt j*f g+= 2 108346   
4 dw]zL, d'lZnd tyf lk%*f ju{ tkm{ 5k|ltzt j*f g+= 2 108346   
5 h]i& gful/s tkm{{ 1 k|ltzt j*f g+= 2 21600   
6 o"jf tyf v]ns'b tk{m 5 k|ltzt j*f g+= 2 108346   
7 bflnt tkm{ 2 k|ltzt j*f g+= 2 43340   
8 ckfË 2 k|ltzt j*f g+= 2 43340   
  hDdf   

 


